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Exercises

Unit 1

Part One

Statements : Restatements
Directions: In this part, you'll hear 10 short statements. At the end
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of each statement, there will be a pause. Then decide
which of the four possible answers is closest in meaning to
the statement you have just heard.

. The shoe shop is not located in the shopping center.

. The cafeteria is on the east side of the shopping center.

. The shoe shop closes at the same time as the cafeteria.

. The cafeteria is more easily located than the shoe shop.

. Martin had to work and couldn’t attend college.

. Martin paid for his college education by working at the same time.
. Martin began college but had to drop out to get a job.

. With a bank loan, Martin didn't have to work while studying at

college.

. He has no money to spend on several important things.
. He spend money unwisely.

. He didn’t want to spend money on anything.

. He didn’t need much money.
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. He retumed from abroad just in time.

. He hasn’t stopped talking about his trip to Spain.

. His Spanish lessons were very expensive.

. His Spanish improved because he lived abroad.

. The professor didn’t go anywhere.

. The professor suggested that the students go.

. The professor agreed with the student’s suggestion.

. The student did not understand the professor’s suggestion

immediately .

. Bill surpasses John in math.

. John surpasses Bill in math,

. Bill always does John math.

. John and Bill make the same grade in math.

. I don” t know what to do with my free time.

. I can’t remember what 1 did yesterday afterncon.
. I 'didn’t use my time effectively.

. I have to find something all the time.

. Tom has begged to become secretary of the club.
. I'm considering Tom for the job of secretary.

. Tom is considering whether to accept the job of secretary.
. I asked Tom to be the secretary and he agreed.

1 can’t worry about Tom.

. I can do nothing to help Tom.

. I find it impossible not to worry about Tom.

. I'm glad to have someone like Tom to worry about.
. He bought a parking ticket.

. He got a ticket 1o the school concert.

. He must have been driving fast.



D. He was caught in the traffic on his way to school .

Part Two

Task 1 Valentine's Day

Word Bank
sweetheart A candy ¥R
celebrate KA
Exercises
A. Listen to the passage and then fill in the blanks.
On Valentine’s Day, sweethearts show their _ (D for each other.

Men give gifts such as @  or flowers, and Fred Tompkins _ & _ his
sweetheart with a heart-shaped box of candy. Jane, his sweetheart, was __
@  flowers, but just instead Fred gives her a three — pound box of
chocolates . she is (&) because he remembered.
B. Listen to the passage again and then answer the following ques-

tions briefly . :
1. Why was Jane surprised on the Valentine's Day?

2. How are they going to celebrate the special day tonight?

3. What does Fred think of his wife?

4. What gifts do men give to their sweethearts on Valentine's Day?




Task 2 At the Bus Stop

Word Bank

confusing BB mixed up PRERAY
accustomed to  HHTF fortunately SRIE Hh
Broadway BEILKIEH Venemela ZFEHEIH
Caracas  HIRIHTAN

Exercises

A.

1.

[~ I L I

Listen to the dialogue and then fill in the blanks .
Can I take any bus that @D ?

. The number 4 ) at 72nd street.
. I sometimes get (D) when [ have to travel around the city.

. You’ll soon get @ to it.
. Listen to the dialogue again and then answer the following ques-

tions briefly.

. According to the stranger, how often do the buses run?

. How long has the visitor been in New York City?

. Is it easy for him to find his way around the city?

. Does he like New York?

. How long will it take the visitor to reach his destination?




Unit 2

Part One

Statements : Negative and Calculation

Directions: In this part, you'll hear 10 short statements. At the end
of each statement, there will be a pause. Then decide
which of the four possible answers is closest in meaning to
the statement you have just heard.

. She went on working though she was tired.

- She stopped working because she was tired.

. She wanted to do more even when she was tired.

. She didn’t know what to do when she was tired.

. She said he didn’t ever read in bed.

. She said he read in bed quite often.

. She said he almost never read in bed.

. She said he nearly always read in bed.

. Studying all night is good for your grades.

. Studying all night doesn’t help at all.

. Studying all night is good for your health,

. Studying all night is helpful to you.

. I know nothing about that kind of problem.

. No one has ever solved that problem.

. The solution to that problem isn’t complete.

. That isn’t a totally new kind of problem.

. Bob is a friend of Jane’ s family.

. Bob’ s family does not know Jane.
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. Bob does not know Jane’s friend.

. Bob and Jane's family have never met.

. She finally arrived at 7 o’ clock.

. She arrived at 4 o’ clock because she delayed three hours.

. She had planned to arrive at 11 o’ clock.

. She was going to arrive at 3 o’ clock, but she delayed four hours.
. They charged us $ 15.

. They charged us $ 30.

. They charged us & 20,

. They charged us $40.

. The catalog is cheaper than the store.

. Buying the item from the catalog will save you money.

. A saving of $ 15 is not worth a trip to the store.

. To order the chair from the catalog is $ 15 cheaper than to buy it

from the store.

. Twelve students skipped history class.

. Three students had permission to miss class.

. Four students had to attend history class.

. There were only two students in the history class.

10.
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. We have 12 tickets at present.
. We have 14 tickets at present.
. We have 8 tickets at present.

. We have 10 tickets at present.

Part Two

Word Bank
community Pk, /33t poverty W%
ignorance  JCH suspicious  ZEEMY
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bumpy (GH 5 ) R A B steep BEWHAY
Task I A Visit to India

Exercises
A. Listen to the passage once and decide which is the best answer to
each question.
1. After the speaker had arrived in India, .
A. he spent a year writing about the place he lived in
B. he took quite a long time finding a suitable place to live
C. he spent years looking for a certain village
D. he lived in a Himalayan community for many months
2. While looking for a “typical” village the speaker found
A. he was searching for the impossible
B. all the villages were exactly the same
C. the villagers made him feel confused
D. the villagers asked him a lot of questions
3. Before coming to India the speaker
A. had been a successful politician
B. had made a decision to do no more work

C. had been dismissed from his job

D. had written articles for publication
4. The speaker decided to change his way of life because

A. he no longer found his work interesting

B. he wanted to live a peaceful life in the countryside

C. he wanted to find out more about the Third World

D. he thought living in a small community would be rewarding
5. The village the speaker finally chose to live in

A. was situated at the end of a bumpy road



B. had a better climate than those in the plains
C. was a short walk from the river
D. had a magnificent view of the river

. Listen to the passage once more and complete the following sen-
fences .
. It was many months before in this Himalayan commu-
nity.
. But the villages I stayed in had much in cormmon:
. Often the villagers themselves were _

4. But to understand how three quarters of the world’ s pecple live , and

5.
6.

, I felt that I first had to ry and share ___
Whenever I stoppedto _____ __ ,there was a magnificent view.

After the village came into view.

Task 2 A Funny Talk

Exercises
A. Listen to the passage once and choose the best answer to each

1.

2.

question .

What happened every Friday afternoon?

A. The lady’s club had a dinner party.

B. The lady’s club gave a dance.

C. The lady’s club held a meeting.

D. The lady’s club invited a gentleman to havc tea.
What happened one Friday?

A. The lady’s club had a discussion over tea.

B. The ladies asked a man many questions about food.
C. A man gave a talk on the relations between food and population.
D. A lady interrupted the man’s talk on babies.

8



3. What did the man say?
A, Every minute a baby was bom somewhere in the world.
B. A woman never stopped giving birth to babies.
C. The more food people get, the less hungry they are.
D. People could do nothing about babies.
4. What did the lady say?
A. She suggested to find that woman and stop her from having babies.
B. She asked the man to stap talking.
C. She couldn’t understand why people did nothing to babies.
D. She asked the man to go on with his speech.
B. Listen to the passage once more and complete the following sen-
tences .
I. Someone came to talk to them
2. After that, they _
3. One Friday, a gentleman came to ____

4, Morethan______ are hungry.
5. And when they get more food, they have more babies, so they

Task 3 Marie Curie

Exercise
Listen to the passage carefilly and fill in the blanks with the words
you hear .

Marie Sklodowska was bomn in 1867 in Warsaw, (@D, where
her father worked as a teacher. Polish teachers were not @ ,and
Marie’s father colld not @ _ for her, so she went towork asa
_ @ . Then she went to study at a most famous French university,
the Sorbonne Paris. She ® in Paris, but she ® in



physics and mathematics. Then she got a job @ . While she was
doing her research she met Pierre Curie. They worked together and discov-
ered radium. In 1903 Marie and Pierre ® - A few years later, in
1906 Pierre @ in the street by a heavy wagon, and )
But Marie continued to work, and won the Nobel Prize again in 1911, She
died in 1934,



Unit 3

Part One

Statements : Structure (1)
Directions: In this part, you’ 11 hear 10 short statements. At the end
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of each statement, there will be a pause. Then decide
which of the four possible answers is closest in meaning to
the staterment you have just heard.

. The town was nearer than we thought.

. As we thought, the town wasn 't far.

. We thought the town was far, and it was.

. We thought the town was nearer than it was,

. Lucy sang better than she danced.

. Lucy was first a singer, then became a dancer.

. Lucy eamed more money by singing than dancing.

. Lucy wanted to be a singer rather than a dancer.

. Mr. Clansy was unhappy about his new partner.

. Mr.Clansy’s new parmner hardly pleased him.

. Mr. Clansy liked his new partner very much.

. Mr. Clansy was more delighted with the new partner.
. He doesn’t drink beer.

. He likes a glass of beer very much.

. He probably likes whisky more than beer.

. He always likes more than one glass of beer.

. The discovery of writing is greater than that of printing.

. The discovery of printing is greater than that of writing.



. People know how to print for a long time.

. People know how to write for a long time.

. The first apartment was more comfortable.

. The new apartment was more comfortable.

- Neither the first apartment nor the new one was comfortable.,
. Both apartments were very comfortable.

. I enjoy walking through the park.

My house is next to the park.

. I live far away from the park.

. My house is on the other side of the park.

. She likes ice — cream best.

. She likes cake best.

- She likes ice — cream better than cake.

. She likes both ice ~ crewm and cake.

. 1 like jogging because it is more fun.

I like to play tennis more than I like to jog.
Playing tennis is beiter for you than jogging according to people.
- In my opinion people should jog and play tennis.

. He likes to become a member of the band.

. He likes to become a member of the football team.
. He likes to work in the band.

. He likes to play basketball.

10.
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Part Two

Task 1 Getting Laid off

Word Bank
lay off HH&k; T slow season RZ
12



unemployment &l in line  HERA

Exercises

A. Listen to the dialogue and then write a T in front of the Statement
when it is true and an F when it is folse .

1. Lou lost his job because it was the slow season at the hotel.

2. Lou was going to apply for another job.

3. Lou found a poorly - paid job.

4. Many people apply for the same job.

B. Listen to the dialogue again and then fill in the blanks .

Manny : What are you going to do?

Lou:I"m going to collect ) +but it won’t do me much good.
I'1l probably be called back by the time I get my fist @

Manny;: Why don’t you look for another job?

Lou:I am, but it" s hard to find work.So many people are looking that
only the worst jobs are @ . They don't @
much. And the bosses think they can do anything because there are
twenty people ® for the same job . Sometimes I don’ t know
what’ s worse : working or being ®

Task 2 Unemployment Hits Home

Word Bank
auo HE layof FTHEIA
depressed THULEY nervous R
nag B5W]
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